THE CHESS PLAYER
By Dr. H. ]J. Ralston

TASK No. 30—By Sam Loyd

Waire Mates v Twao Moves
[¥alue 5 points)

Answer to Task No, 28: R-K7.

Amnswer to Task No. 30 should be post-
marked not later than Seprember 11, It
iz required only that ¥White's first move
hegiven,

R. CARROLL M., CAPPS of
San Francisco is one of Cali-
fornia’s leading players. He learned
to play chess at about the age of six-
teen, and was active in chess at Oak-
land Technical High School. Later
he graduated to club play, at the Oak-|
land, Castle and Mechanics’ Institute
ciess clubs, Except for a pertod dur-
ing the late war, when he served in |
the Navy, he has confined his activi- |
ties almast entirely to the San Fran-
cisco Bay Area.
hr. Capps has won many important
tournaments, but he takes particular pride |
in hizg record on the Mechanics' Institute
chess team, Out of seme thirty match

games, he has drawn only about four,
winning all the rest!

We have asked Mr. Capps to contribute
one of his games to this column, He de-
seribes the mame below as one of his most
frolicsome, Te was playved in a match be-
tween the Mechanics' Institute and the |
Russian Chess Club last April, The notes
are by Mr, Capps.




ENGLISH OPENING

White Black
C. Svalberg C. M. Capps
1. P-QB4 Ki«-KB3
2, Kt-QB3 P-EK4
3. Ki-B3 Kt-B3
4. P.Q4 P.K5
5, Kt-QQ2 B-Kit3
6. PK3 00
7. BK2 ~ RK1
& OO BxKt
9. PxB P.Q3
10. B.K2 B-B4
11. RK1 Q-Qz
12, Kt.B1 B-Ki3
13, Kc-Ki3 QR-O1
14, R-Ktl P.Kt3
15. B-R1? Kt-QR4
16. R-Kud P-B4

Gains space, locks the -
wing, and seals in White's dead
hishop.

17, R-Ki5 R-K2
Clears a path for the other
Rock, and a square for the KK,

18. P.KR3 Ki-K1
19. R-Kit1 P-B4
20. P-Q)5 Kt-KB3
21, R.Kt2 R-KB1
22, B-B1 Q-B1

Q-E3 isn’t much of a threat,
bt Kit-02 15!



23. QK2 Ke-Q2
s L X

A losing sort of move,
....... PxPe. p.
25, PxP P-B5
26, Ki-K4 BxKt
27. PxB P-Ba

Mo hurry  about capturing
material, White will be tightly
blockaded, while all Black's
pieces gn o work—even the
exiled QKEt!

28. Q-R2 Kr-K4
20, R-KB2 R-B3
30. K-R1 R-R3
31. (-Ke3 Kt-Q6
32. RxP KtxR
33, OQuKr RxKP
34. Q-B2 " KwxP
33, R-K13 Q-KB1
36. R-B3 R-B3
37. RxR QxR
3. QKa2 =
If 38 0x0, PxQ; 3. B-03,
RxP!
L KixP
39, QxR QxBch
40. K-R2 Q-B7ch
Resigns.

If 41, K-R1, 0Q-Kich; 42
K-R2, Ki-Bich, winning prac-
ticallyr everything.
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